100ERARFBERY 585 vrR RS TR g a
B 100# &
3 Do v ’;j—_%f ’i ;:;J__g: & 14
s | ¥ i 5 EA FEW P AR
A0l HHENE NGB Y (B EE A S LS e e E 2 B 2,378,476 1,082,700
2 |A02 HhEE R B EEERCE Lalie g i P B S [ 4R T T B A - P B 3,504,400 2,030,916

1 BH =51 meh

AR =



1005 R FEHY 25U vReRBEE  PEd fe:s
B 100# &
S5 = 213 2 1P
5 G R e d 43 ¥ 7k i
B A S R B S B B
4 [A04 W R R ERCE L g a g Bl S =R = 2,861,076 0
5 |A05 MEVENGEENILEE S NEER G E R G E e E 25tE 1,523,320 288,360
6 |A06 EEDE NP ERE EPESEE H PFE & S Rl S B T 25 3,395,889 0
= HH =51 Hii

RN =



100£RAEMHY 2503 B4 E Pt He: =

100 &
e ¢HH o - ——
77 R v -2 5 L&
R (S RS R R e R ¢ =
=4 7 I&
A07 jﬁ/{bgﬂiﬁﬁﬁ% Egﬁg{_% 4,027,181 O
A08 e B B e ST DRI B L B TR e t IR IR 51 1,664,358 391,569
: B B B 064, 391,
409 BT IR A BB R 2 0 e O P T P B R s o 2.005.34 342,30

= HH =51 Hii Y ==



100% 2 2 F W 4e

IR kit Kk I B =
)2 100# &
S5 = 213 2 1P
5 gt G R ;%_5 3 ¥ 7k i
10 [A10 HEVE N BEREEE T TELE N & EREE T 201 1EEHETE 1,000,000 947,020
VA= VA= ,[\7/\\%: ~rTE: —\:\"‘ f #E@Z\%E
11 |11 HEE AR SRR ERS %ggﬁ;@ﬂ‘ﬁ/ CoERERE o SR M A A TR 2 1,453,873 1,000,000
12 [A12 WFENE N AL AL e R S R TR e B B R sesl s T 686,000 0
13 [A13 HE A GILm A% RS % VAR R o B — Al Al g s 4,737,222 0

1 BH =51 meh

SN B=



100ERAFEMY 2545 vgsrd i e~
A 100% A
#i ¢ HH g ng
o i i BT YT
14 fa14 SRS RIS A TR B :
15 |u15 SRS R B L SR RICEIRHER S SRR A LRESe 7 1,702,408 0
16 [a16 YN =R R RREIRI S LIRS G s 2 1,778,000 0
17 |17 HEE A B IR Kl 100 R I  E ER F 2 1,492,437 0
A8 B & AT (RO (TS PR E R R 1,258,635 857,728
P R gl AT Yt 469,500 0

(ol ==



100£RAEFMMY F25DEvganners pad P a
Al , 100 &
S B = 214 ¢ 15
#® ? ks T En E¥T
0 Lo I S R SR AL T
IR S 6 BRI Ak 1,120,500 0
21 |he1 L RIN T e 5.0 R SR RS RIS ) 518 10,047
22 |n22 B A M B BRRGE |5 e s 800,040
23 |A23 R AL T2 S A B L R L R TS B R s 983,580 2896112
> N \ /i O ;\:jé B_L/J:‘;: A — /\\ﬁt E‘;\;jé W/\Eg'i EI‘¥‘5
20 124 (BRI R S LR AR A 511,560 0

1 BH =51 meh

(g ==



10052 AFRMY A5 DEvReRHTE  pRi e n
5 100 &
S BE L il A — ———
5 P s Y 4 1 2 4 17
25 |A25 B AT E P PRI B 24,590 24,590
26 i %%laﬂfﬁﬁﬁmmﬁmﬁzﬁacp CHRABTERE T o e 70000 .
27 ot ST AR S S e e G gﬁ*ﬁg%ﬁ%gﬁ@gﬁﬁ%_%ﬁ555%‘ I 762,880 0
28 |A2s EE ARG SRS G T ST | ERLUICR B et ph e R R 22 646,197 0
29 |12 HEE A BT A RS 10048 FE [ P b sk e o8 2,094,120 0
30 |A30 B AL B | R i R SR T I 982,568 0
31 |A31 R AT L R S e R REE AT B 146375 0

[y B==3



1002 FEHY FrE03vemsdr s pad Mo n
S 100 B
S BE L Bl — —
e T # &R P& 3R
32 |A32 HENAE N EMRGIERE RS S i A dr R - P AR R L R B S R s 5 1 e 826,100
33 |A33 1T EE N ERGIEE R PEEIfEERE 0 HHEBREFHEED 400,400
34 |A34 HEEANEEG T FREETT A Y e ¥ B s B s h AR s = S 2,755,524 0
35 |A35 HEIEANEFETE AE RS e T A REEEN Z5] ) — & HzEE 176,810 0
36 |A36 T EE NG RS R 2 L TR « ZFEEE—FT e B g i R b 2= ] 714,939 0

1 BH =51 meh

S0 =



1005 R EFEMY FREDEv@anys  Pai Ye:s
5 100% &
3 5 v ’;—’l—_%f ’i ;:;J__g: & 14
w| OF T = LA xS
37 37 ST T & R R B R R M 9.0 2,300,299 0
38 |A3s O A 5 B AL I 2 SN (L LR S T $11.440 132, 000
39 [139 L A 5 B AL S 2 IR BT by AR 775,359 335, 371
40 |10 L A S M O i R R e 449.100 0
N = Z = = y. ‘Ef TﬁT‘ AN
41 |nat gé*@m%mfﬁﬁﬁa*m*”%@a@mﬁﬂ i SR S I B 2,207,300 691,200

RN =




1005 RS FERY F2E0EvBaRmrE Pt geis
p| T s T R T
42 |A42 SRR TN E L A 1004 = HERA B o bt 2 7 K BT st = 500,000
43 |A43 R RO R AT E T % 20115 O IR AR 2 560,000 482,000
44 |A44 HEEVE AR ARG E e AT LRIy ez 1,017,480 0
45 |A45 HHEDE NG e e e A e B Re S T TBIR S R LR ROE 588,000 0

1 BH =51 meh

AR IN B



100 RFERY Foi0ivaemards  pad e s
B 100# B
S B = 213 2 1P
=3 e | v mr’fﬁ‘ E';%_.%%Fr P & IR
46 [A46 tHEVE ARG E EER S A B PATERRZE MR BEAR )7 622,056
47 (A47 HHEVEANFRGS OEREE SRS | &R E S 364,000
48 A48 HEVE ARG OEREEBLE R 2. R e T A3 364,000
49 1A49 HEVE ARG OEREE BLE R EErnit=¢ Cin=-: 1,750,000 0
50 |A50 AAELE N B R R AL LI B P s s e AMEEER R R 834,300 0
N A:%ﬁa‘% *X A:;H‘ ;—}‘L—Pi—‘ﬂ““ 4 _\_.ﬂ/‘g)@a oy
51 A51 ?;;/ik m/%% =] %&Fﬁﬂ = Mjﬂi’fb@%/%*&.\l‘ IS H%&% E N Eé& N E)_‘,\%“I_‘% 1,705,150 536,370
P reR99. 11292 F S wak &8 2 430174 | w5204 B & iR mL

1 BH =51 meh

AE 11 =



— BHH I==1.888 A 1N =



— BHH I==1.888 R ==



— BHH I==1.888 A 1A =



— BHH I==1.888 A 1C =



1 BH =51 meh A 1c =



— BHH I==1.888 A 11 =



— BHH I==1.888 A 10 =



— BHH I==1.888 ==



1 BH =51 meh [EaaTat==12



— BHH I==1.888 A N1 =



= BHHE =510 EE AN B



	民間團體

